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5 Ina company. the ratio of the mumber of men fo the mumber of women is 3:2

40% of the men are under the age of 25
10% of the women are under the age of 25

‘What percentage of all the people in the company are under the age of 257

(Total for Question 5 is 4 marks)
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13 The tble gives nformarion sbout AL’ spending ast momth.

Tn | o pesdng
- o
e =)
e | 1%
e -

A1 ol spending st month s £500

Next month AL's rent, i pounds, s gong o rse by 20%.
s toral spending il sl b te same.

‘Express the amout of money Al il spen o rent ext month 2 8 ercentage of £500

(Tota for Question 1315 3 marks)
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§ Celina 2nd Zoe both sing in 2 band.

‘One eening the band plays for S0 mimutes.
Colina sings for 65% of the 80 mimts.

e et o imi,
o s i o

‘Work outfo horr many more minutes.
You must show all your working.

(Total for Question 5 is 4 marks)
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*2 Karen got 32 out of 80 in a maths test
She got 38% in an English test.

Karen wants to know if she got a higher percentage in maths or in English.

Did Karen get a higher percentage in maths or in English?

(Total for Question 2 is 2 marks)




image10.png
11 Each day & company posts some sanallltters nd some large leters.
The company possall h e by fst s post.
“The bl show information about h cotof snding sl e by fs s pst.
e cost of seding  age It by st class post.
Small Letter Large Leter
Welght | Fies Clas Post. Fies Clas Pt
01005 @ o
s
amn
X

One day the company want 0 post 200 et
“The o ofth b of smal e o the uanhr of rg eer s 3:2.
70% o the lage lters wegh 0-100g.

The st of the lage s weigh 101-250g.

Workout he ol cot of pstingthe 200 lees by st clss pos

PR
(Tota for Question 11 s § marks)
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10 Sasha takes 2 music exam.
“The bl shows the reul thr Sasha can et for diffrent pescntages i e music exam.

Percemage Resut
o9 pas
0% 4% =
s too Disineion

‘Sasha gts 62 ou o 50 i e music exam.

What result dos Sasha gex?
Yo mutshow your woeking.

(Totalfor Question 10 is 3 marks)
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20 Inasae normal prices ar reduced by 20%.
A washing machie has a sl prie of 464
By bow much money i the nonmalprice ofth wshing machine educed?

(Total for Question 20 is 3 marks)
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27 The histogram shows information sbout the times. in minutes. that some passengers had
0wt a4 sspot.

1]

1)

% 1 2 0 4 0 @ M % % 10010 10
Time (it

Workout the petcentage of th pasengers wha had o it o o then o .

(Tots for Question 27 is 3 marks).
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2 Mr Mason asks 240 Year 11 students what they want to do next year.
15% of the students want to go to college.
% of the students want to stay at school.
‘The rest of the students do not know.

Work out the number of students who do not know.

(Total for Question 2 is 4 marks)
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16 The normal price of a television i reduced by 30% i a sale.
The sl pie of the tlevision s £350
Work ut e ol prce of h levision.

[
(Tota for Queston 1615 3 marks)
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3 Ruitickots snd Chenpiesing s twe webisites selling tmin tickess.
Each of the webites adds i cand charge an 3 bookingfe 0 the ke prce.

Raltickets Cheaptrains
Crsit cand charge: 225% of ket prce | | Crit candcharge: 15% o ikt price
Booking fe: 30 pence Booking fe: €190

Nadia wans 1 buy a i ket
The ket pic i £60 on each website
‘Nadia willpay by creit card

Wll b cheapr for Nadia o by the e ket from Ralickesor fom Cheaptrans?

(Totsl for Question 10 s 4 marks)
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Tw shops both sel the same type of s
In both shops the price of the suit was £180

One o s e f e ity 175
o e sop i e i o e i by 2 %

Caleulate the difference between the new prices of the suits in the two shops.

(Total 3 marks)





image18.png
7. Noah got 8 out of 20in atest.
Wi 8 utof 20 353 parcantage.

Clotal 2 marks)
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5. Work out£54 252 percentage o £350

(Total 2 marks)
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10 Paintings are sold in an art gallery.
e cost of a paining has k% commission dded fo L.
Taxof 15% i then added o the ltalcost to give the prics {0 pay.
Layia correcty calculates the pice o pay by muliplying the cost of the panting by 1.403.

Work out the value of k.
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2 Anit's income is 32% more than Bethan's income.
Amrit and Bethan's combined income is £54 868.

Calculate Amrit's income.
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‘Adam buys some thealre tckets in a sale.
“The normal prices are:

£80 for each adult
£40 for each chid

In the sale, the prices are reduced by 15%
‘Adam buys 2 adult tickets and 1 chid ticket atthe sale price.
‘2% booking fee is then added to the toal cost of the tickels.

Caleuiate the tolal amount that Adam must pay.

Ticket Sale

Al prces reduced
by 15%

(2% booking fee:
apples)
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10 60% of the people in a town are males.
20% of the males are lof-handed.
21.6% of all the people are lef-handed.

‘Work out the percentage of the peaple who are not male who are loft-handed.

% 18]
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Here is the nutritional information for a 110g serving of cereal.

Carbohydrates 99.4g
Proteins 959
Fats 11g

Emily says that more than 90% of this serving s carbohydrates.

Is she correct?
Explain your reasoning.
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7 Naomiis given a 10% pay decrease.
Her new wage is £252 per week.

What would be her weekly wage if instead, she had received a 10% pay increase?
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5 Mo's tyre pressure gauge shows a reading which is 12% higher than the actual pressure.

Whatis the actual pressure when Mo’s gauge shows 38.647
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12 Helen delivers parcels.
On Tuesday, Helen delivered 20% more parcels than on Monday.
On Wednesday, Helen delivered 50% fewer parcels than on Tuesday.
On Wednesday, Helen delivered 72 parcels.

Calculate the number of parcels that Helen delivered on Monday.
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Alex and Bev sat six tests, each with 50 marks.

The table shows their mean percentages after five tests.

Alex | 60%

Bev | 52%

After all six tests, their mean percentages were equal.
In the sixth test, Alex scored 24 out of 50

Work out Bev’s score, out of 50, in the sixth test.

[4 marks]

out of 50
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Work out 320 as a percentage of 80

Circle your answer.
[1 mark]

25% 75% 300% 400%
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Three friends arrive at a party.
Their arrivalincreases the number of people at the party by 20%

In total, how many people are now at the party?

[2marks)
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‘There are four starters and ten main courses to choose from.
Two of the starters and three of the main courses are suitable for vegans.

‘What percentage of the possible lunches have both courses suitable for vegans?
13 marks]
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Work out 40 as a percentage of 10

Circle your answer.
[1 mark]

4% 25% 300% 400%
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2

What is 50 as a percentage of 207
Circle your answer.

10% 40%

150%

250%

[1 mark]
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11

Billy wants to buy these tickets for a show.
4 adulttickets at £15 each
2 child tickets at £10 each

A 10% booking fee is added to the ticket price.
3% is then added for paying by credit card.

Work out the total charge for these tickets when paying by credit card.

15 marks]
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16 ‘The value of a new car is £18 000
‘The value of the car decreases by

25% in the fist year
12% in each of the next 4 years.

Work out the value of the car ater 5 years.

13 marks]
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1

Circle the calculation that increases 400 by 7%

400 x 0.07 400x0.7 400 x 1.07

400 x 1.7

[1 mark]
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In 1999 the minimum wage for adults was £3.60 per hour.
In 2013 it was £6.31 per hour.

Work out the percentage increase in the minimum wage.

13 marks]
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3 Aboaus of £2100 i shared by 10 people who work for  company.
40% f th bonus i shared cqally betwoen 3 managers
The st fth bous i shared ey berween 7 s
One of the sesmen say,
1 the b i shared cqally betwesn sl 10 peopl | ill et 254 mor money™

1 the ssesnancomer?
ou st how how y0u et your answe.

(Totsfor Question 3 s § marks)
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1 Jack nd Sadia work for & company that sslls hones of bmskfust comsel.
“The company wants 10 have a spcial offe.
Hre i Jack'sides for the spcil ofe.

Pt 2594 mors el i sach b o nt e e prce.

Hre i Sadin's ides.

|

‘Sdia wans ber s 1o gvethe same value fo money 25 Jack's .
By what prcenage dos she oed 10 reduce the price?

(Total for Question 11 s 3 marks)
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2 On Satunday,some adultsand some childen wee n a hesr.
The o ofhe samber of sk 0 th b of hldeen was §:2

Each prson B st the Ciceorhad 3 st i the Sl

3 ofthe chikden b s i the el

17 chiden b s i the Cice.
Ther e exctly 260 seas i the thee.

O this Setnday werethere peopleon more than 60% f the sets?
You st show bow y0u 8¢ s answe.

(Totsfor Question 2 s § marks)





image4.png
2 The time series sraph shows information about the percentages of the people in village
it used the villge shop for the years beteen 1950 2nd 2010

|
35|
3|
2|
Percentage
|
15
10
5|
of
150 1% 200 200 200
Yo
(2) Describe the trend i the percentage ofthe people n the illage who used the shop.
Sor i period.

)

() () Use the graph to predict the percentage ofthe peopl i the village iksly to e
e daop inthe year 2020

) s your predicton elisble?
Explain your msver.

©
(Total for Question 2 is 4 marks)





image5.png
8 Here is a diagram showing a rectangle, ABCD and a circle.

4 iem 5

Toem

o m ©

BC s diamete of e cice

Caleult the percntage ofthe sra of th rciangle i s shded.
Giveyour anser cortet o 1 deciml place

(Total for Question 8 is 4 marks)





